TFA4—A —45—&—N\—=T>
I2H4E| (K)~12BH12H (K) [EB5%6B305&T /RIEAFHRIBET]
FREBINE T EYIE xO6scos#r4088Es288T7.

Y [y gy a.Yvsyhk 7,700/
e a—hka—k (721) 1L55%
v—L~2+10,780m  A—F«H¥ @) 6,600m 20,900m RYTZFIL45%/M)

(E70% + 72') 1L 30%/ (RUTRTIL65% - L—A>35%/  (Zkith: +( 0> 86%- b.y—JLEd—k

) —HAZ M ~ L) 7) =914 X (M~ LI ) RUIL S 4%, , 31,900
Fbt: | A
< 5%9290% + 7xH— 10%/ - f SJ? v 1170-;»50:%~ E35%:
I)—H AR . 'H 17))LI5/0\/7)—+7%Z
(M ~ L)) - . (M ~ L))

20 i », H—LiEtE—5— i i' !

A\ e 6,600 : S E R
4.) | : (7211.80% £20% / ‘i ' MR ATV ETOT,
14, 7)—HAR ] e : BEUNOEEESBRIEE0,

[ M~ L33 75)) -=~—T.:} _*#__‘_,..-r" ‘
# —
3 1E-‘ A= ¢. 5> a—k 16,500/ Geit: £)TZFL100%, @ IvE—5— ﬁifi
HIvt—5— 24,200/ (]3'3%?32 Hidor: 572 80% - 7z —20% /M) 505y 7,700/
NP3 H—F+7> 13,2001 (M~ L305) d RFPELT1>7E&a—k 11,0008 @1 hTrrvhERE

(EBIZHZIFI00% / 7V—H1 X (M~ L)) (FRYTZFIL100%/M) st30&m|Y & 7,700m



